Errata for
Classical and Modern Numerical Analysis:
Theory, Methods, and Practice
(for the first printing)

Azmy S. Ackleh, University of Louisiana at Lafayette












p. 286, problem 13: Since the Lk(x) in this problem are the same as the
k(X) in (4.8) on page 212, L



p. 349, Table 6.1: The indexing on the a’s and z’s should go from 0 to m,
rather than from 1 to m + 1, to be consistent with the rest of the text.



instead of

A spring is “sti ” if its spring constant is large; in such a
mechanical system, the spring will cause motions of the system






p. 569, Exercise 11: The reader should assume, as in Theorem 10.8 and Lemma 10.2,
that



